Algebra 1 Review

Part A Iind the value of each expression below - NO Calculator!
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9)  -8e3-12+4 10)  (1+7) -2(8-15) 11)  (18+2+D)=(15-10+2)
12)  |-5]-}-3) 13)  3+2[1544(7-2")] 14) —5[(1"~:—4+(I3—5'2):]

Part B Evaluate the Followingitx=3,y=-2Zandz=5

1) 3z-x+Yy 2) X= - y* 3) Xy~ 4) (x +2)?
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Part C Decide if each statement is TRUE or FALSE. If the statement is false, put in one more sets of
grouping parentheses to make the statement true.

1) 18+6+3=2 2) 20+5-2¢1=2 3) 20-6+5(2)=4 4) | +43° =45



Part D Simplify each expression below. If it cannot be simplified, please state this.

1) 2X + 6x 2) 2x + 6y 3)4m-6m-10m

4 (2x)(3x)(-5)
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—

(8y)(6x)(22) 6)  8+6x-10+3(2x-5)

7) 8+9m+ 10 8) 8e9me(-10) 9) -6(4-5v)-20vr

Sv-12

10) 11) 18z-14-2z-22 12) =3d’+2b-3c¢'+54°

Part E Use the distributive property to simplify each expression below.

1) 13(2x+10) 2)  -5(m-8) 3)  (5m+2)3

4)  15(2m - 3n) 5)  2y-2(y+5) 6) -11(2-y)

7) By +(4-5y)6-15 8)  (2q+8)-2 9)  (2+3y)-(2-3y)
10) %(12_\--2(1]_;\- 11)  7(y+2)-3(2y-5) 12) 8y -4(6 - 2y)
13) 8+ 4(3m-2) 14)  12-3(4a+2)-6 15) 8m-(5-3m)-6

16)  -5(6y +2) - 13y + (-3)* 17)  6(2m+3) +42-6(2 +3):



Part F Solve cach equation

1) -7=4-(x)

4) 2x-4(3-x)=18 : 5)

7) 2.07x+14.75=421x-5901

9) -3(2x +5) =- (15 - 6x)

11)  6x-8=-3(2x-4)
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21d+15=-5d+ 7 . 6) 6(2-x)+4x=-5(x+3)

8) 2x=-5x+11=2-3x+9

10) -4y -(S5y+6)=-7y+3

12) 5x+3-2x=3(x+2)



Part G Solve for the indicated variable

1) 5a+b=c,solve fora 2) - 8pq = 4rs, solve for p

3) S=8 +-i—!’f , solve for [ 1) V= %:n‘"h , solve for h

Part H Name the coordinates of the points graphed below. Identify in what quadrant or what axis the
points are located.
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Consider the equation 3x-2y= ;{—Lr+6). Complete the following coordinates.

1) (&) ) (3) 3) (ﬂ%’)



Identify the slope and y - intercept of the following equations.

4) y=—=X+53 5) 4x+3y=15

[
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Find the slope between each pair of points.

0) (-5,12)and (7, 3) 7) (5,12) and (5,-5)
. ; : . 5
8) Find the value of x so that the slope between the points (x,-2) and (4,3) ==
b
Graph the following equations using whichever method you choose.
9) 2x-3y=6 10) 2x-y=2x+8 11) 2(x+3)=12 12) y=4-3x
(graph 9 and 10 on same graph) (graph 11 and 120n same graph)
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13) 6y=3x-12 14) 5x=2y+8
(graph 13 and 14 on same graph)
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15) 4y-4x=0

16) 3(2y -3) =- 3

(graph 13 and 14 on same graph)

Part 1 - Write the equation of the lines in the form requested.

In slope intercept form if
1)ifm=3andb=-2

2)

m=1/6andb=5

3)m=0,b=-7

In slope intercept form that is Parallel to the given line and passing through the given point.
F } I 8 8 8 F

4) _\'=—§.r—l through (4,1)

5) 3x +y =9 and through (3, -2)

In point slope form that is Perpendicular to the given line and passes through the given point.
I g I

6) y = 4x - 6 through (-8,3)

7) 3x - 2y =- 8 and through (3, -4)

Write the equation of the line through the 2 given points( any form is ok)

8) (1,4) and (5,7)

9)

(-3,-3) and (7,2)

10)  (8,-2) and (4,-2)



Part ] Solve each of the inequalities/equations

1) 6y-7<-2yv+13 2) 9s06-b=12 3) |2h+l|25

@}
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4) 4+2n=21o0r -5n>25 |3x=5|=10 6) |4-24]-7<12

Solve the following equations

7) |4k -3|=11 8)  Pe+l|-4=13

Graph the following on a number line.

9) x<5o0rx>8 10) x<3andx>0 11) -10<x<-5

Graph the following inequalities on a coordinate plane.

12) -2x-3v<12 13)  va=ux+l
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Part K Systems of Equations
1) Solve by Graphing

2x-y=5
y=5-3x
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3) Solve by Linear combinations(elimination)

6x-4y=9
8x + 3y =-13

5) Solve by any method

2) Solve by Substitution

10x+y=5
5x+4dy=06

4) Solve by any method

6) Solve by any method

l.\'=~—\'-l()
3 2

x+y=7



7) You have a handful of 30 coins, all nickels and dimes. If you have a total of $2.00, how many of each
type do you have.

8) A rectangle has length that is three less than twice the width. Find the length and width if the
perimeter of the rectangle is 48 cm.

9) The larger of two number is 4 more than 3 times the smaller. The sum of the two numbers is 28. Find
the numbers.

Part L Simplify the following, leave no negative exponents in your answer.

1) (3"'-5): 2) 3("5;\]: 3) 5(—‘\"\':)‘ 4) 4yt o3yt
5)  dxivie-or’y 6) (4 7) [ls'ﬁ)h
124"
8) _4_";: 9 (37 ) o(-5:7 )'* 0 ! s.r*_‘v' ‘
¥ 207y

_4 e 2- I . ‘) =5, e o i .
11) ( \‘ ] 12) 3.\i : " \.\_‘_\‘ 13) .\_\1 127y
- 20t 1047 Jaiy? '



Part M Perform the indicated operation

1) (x.r‘+|:]+(12.\-"+x-1u) 2)
3)  (r-2)@r+4) 4)  (2y-7)(3y+1)
6) (2x + 3)? 7) (2x + 5)(7x*-3x - 4)

Factor each expression completely

1) 507yt 4300 2) X =Tx-8

4) 16y™ =49 5) 207 +30+9
7) 24x° =30 8) 91" +16
10) 2a 4247 =24y 11)  36x°-064

3)

6)

9)

12)

(—2.!" +41° —-4)-(51‘+?:: +.f+6)

5 (6x-9)(x-2)

8) (4x - 3)(4x + 3)

4n° +4n+1

3y’ -8y-3
T2 =08
T =8v-48



Part N Solve each equation -

By Factoring 1) 34° +18x=0

3) x-2x-3=0

Solve using the quadratic formula

5) S5x=+2x-1=0

Part O Simplify each radical

1) 250 2) o872

i 5 5) 4/8+5(2

S+J§

4

2) 3 +8x-4=12

4)  36x%2-9=0

6) 3x:-7x+2=0

3)  -2J6+730

6) —

9) (4\/5):



Answers

Part A

1) 49 2)-499  3)-11/18  4) 74/25 5)-21/16  6)-9 7)11 8)-16
9) -27 10)—31 11)0 12) 2 13) 25 14) - 90

Part B

1) 10 2)5 3)12 4) 64 5) 30 6)-9/10 7) 3

Part C False

1) False 18+(6+3)=2 2) True 3)False 20-(6+5(2))=4  4) (1+4)*3" =45
PartD

1) 8x 2)done 3)-12m 4) -30x2 5) 96xyz 6) 12x-17 7)9m + 18
8)-720m 9)10y-24 10) 2y-3 11) 16z-36 12)  -3c3+2a%+2b
PartE

1) 26x+ 130  2) -5m + 40 3)15m+6 4)30m-45n 5)-10

6) 11y -22 7)-2Zy+9 8)-4q-16 9)6y 10) 85y-15 1) y+ 29
12) 16y - 24 13) 12m 14) -12a 15) 11m-11 16) -43y - 37 17)12m - 116
PartF

1)x=-11 2)z=-25/13 3)x=12 4)x=5 5)d=% 6)x =-9

7)x= 9.545 8) any real number 9)x=0 10) y=-45 11)x=5/3

12) no solution

PartG

1) a=(c-b)/5 2) p=-r15/2q 3)1=2(S-B)/P 4) h=3V/xr?

PartH

A) (-2,3), 2" quad  B) (0,-2) y-axis C) (2,6) 1=t quad D) (-6,0) x-axis E) (5, -2) 4t quad
1)x=3.5 2)y=0 3Ny=-11/6 4)m=-1/2,b=5 S)m=-4/3,b=5 6)m=-3/4
7) m = undefined  8)x=-2

9/10 11/12 13/14 15/16




Partl

1)y=3x-2 2)y=1/6x+5 Ny=-7 Hy=-1/4x+2 S5)y=-3x+7
6)y-3=-1/4(x +8) 7)y+4=2/3(x-3) 8)y-4=%(x-1)ory-7=%(x-5)or _\‘=§_r—3%
9)y+1/2x-15 ory+3=Y(x+3)ory-2="%(x-7) 10)y=-2
Part]
)y<5/2 2)-32b=-6 3)h>20rh<-3  4)n>-3/20rn<-55) x>50r x<-5/3
6)x>-75andx< 115 7)k=3.50rk=-2 8)c=16/3orc=-6
9) TED—F 10) (==
G ).g ®) 3
11) - =0 = 12)
-1 5 .
B f)t —
N '
0‘.

PartK -

1) (2,-1) 2)(2/5.1)  3)(-1/2,-3) 4)infinite # of solutions  5) no solutions 6) (-15,22)
7) 10 dimes, 20 nickels 8)W=9,L=15 9) Large =22, small =6

PartL
1) gx10 2) 3x10 3) -5x3y6 4) -12x% 5)-24x8y5 ) 64x%y12 7) 25/16x10
8) -4x2y? 9) 625y'0/9x!e 10) 3x7 11)  27x%%/-64 12)  10/x0y?! 13)4x1/9y"
207
4
Part M
1) 20x*+ x+ 1 2) - 763-3t8-1-10 3) 3re-2r-8 4) 6y2-19y-7 5) 6x2-21x+18

6) 4x2+12x+9 7) 14x3 + 29x2 - 23x - 20 8) 16x>-9
1) Sxy3(x + 6y) 2) (x-8)(x+1) 3) 2n+1)(2n+1) 4) (4y-7)(4y +7)
5) ‘dues wobfacie 6) (3y+1)(y-3)  7)6(4x*-5) 8) doesn'’t factor N7 (y-2)(y+2)

10) 2x(x + 4)(x-3) 11) 4(3x-4)(3x+4) 12) (x-12)(x+4)
Part N

; B R ) . -t/ s
1)x=0,-6 2)x=-44/3 3)x=3,-1 4)x="%,-1/2 5)x = — 6)x=2,1/3
PartO
1) 510 2)168 3) -85 4) ”‘f_’ 5) 12 6)  2J6 7)10J10
8) 4442 9) 48
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